PART -1
GENERAL STUDIES

1.  In which of the following years, were Harappa and Mohenjodaro discovered ?
(a) 1921-22 (b) 1910-15
(c) 1857-58 (d) 1905-10

2. Whose childhood name was Gadadhar Chattopadhyay ?
(a) Rabindra Nath Tagore (b) Ram Krishna Paramhansa
(c) Atma Ram Pandurang (d) D.K.Karve

3.  Whois called the ‘Father of Indian Archaeological Department’ ?
(a) John Marshal (b) Mortimer Wheeler
(c) James Princep (d) Alexander Cunningham

4.  Who of the following was called ‘Lakh Baksha’ due to his magnanimity ?
(a) Akbar (b) Harshavardhana
(¢)  Qutbuddin Aibak (d) Samudragupta

5. Who of the following had established ‘the Servants of India Society’ ?
(a) Mahatma Gandhi (b)  Gopal Krishna Gokhale
(c) D.K.Karve (d) Henry Vivian Derozio

6.  In how many days did Mahatma Gandhi complete his ‘Dandi March’ in 1930 ?
(a) 24 days (b) 16 days
(c) 10days (d) 8days

7. Where and when were the First Asian Games held ?
(a) Tokyo — 1958 (b) Manila - 1954
(c) New Delhi — 1951 (d) None of the above

8.  Who of the following is not included in the latest list of ‘Promising Young Leaders and
Game Changers’ published by Forbes magazine ?

(a) Sania Mirza (b) Virat kohli
(¢) Saina Nehwal (d) M.S. Dhoni

9. In how many balls the New Zealand Captain Brendon McCullum (who recently quit the
cricket) scored the fastest Test Century ?

(a) 46 balls (b) 54 balls
(c) 59 balls (d) 60 balls
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In India how many ‘Padma’ awards were given for the year 2016 ?
(a) 112 (b) 125
(o 150 (d) 200

Whose name was recorded in the ‘Guinees Book of World Records’ for writing maximum
number of film songs ?

(a) Anand Bakshi (b) Javed Akhtar
(¢) Gulzar (d) Sameer ‘Anjaan’

Which of the following countries is most corrupt according to the Transparency
International Report — 2015 ?

(a) Suddan (b) Angola
(¢) Somalia (d) Iraq

What is approximately the percentage of alcohol in ‘Asavas’ and ‘Arishtas’ ?
(@ 40% (b) 20%
(c) Otol% (d) 5to10%

In how many areas is Nobel Prize awarded ?
(@ 6 (b) 8
) 9 d 12

The first meeting of the Constituent Assembly of India was held on
(a) January 26, 1948 (b)  August 16, 1947
(c) December 9, 1946 (d) November 26, 1947

The Council of Ministers are collectively responsible to
(a) The President of India (b) The Parliament
(c) The Prime Minister (d) The People of India

Which of the following Articles deals with the constitutional amendment procedure ?
(a) Article 348 (b) Article 358
(c) Article 368 (d) Aurticle 378

The Comptroller and Auditor General of India is appointed by
(a) The Prime Minister

(b) The President on the Advice of Prime Minister

(c) The Parliament

(d) The President on the advice of Parliament.

Series-A 4 VVA



10. ¥RA H a9 2016 % fo1d fohc= “UgH [XEHR USH T T 2
(@ 112 (b) 125 (c) 150 (d) 200

11. sy e | fhew Mq foren & folw fohae A FHis 9% 31 oo Rt # sifed foar

™ ?
(a) A= R (b) AT FEW
() TR (d) TER S

12, U S0SHYES i KA — 2015 % 3TER 7 90 § § A 91 Faitas 9 € 2
() = (b) et (c) e d) TH

13. oAl ST ‘HAREN § STohiaet i Uiaerd JET o fohet gidr & 2
(a) 40% (b) 20% () 0 91% (d 5%10%

14. forem &5 § Fisiet QR TR fehar ST € 2
(a) 6 (b) 8 © 9 d 12

15. YR ! GALS ST Sl T SSF g2 off
(a) SHERI 26, 1948 (b) 3T 16, 1947 Ht
(c) TE=R9, 1946 %t (d) IR 26, 1947 =t

16. HE-URSE G €9 9 STRIMET Bt § |
(a) R % AU & Ui (b) TEEF Ul
(c) W = o ufq (d) RE N ST F U

17. = o I=2si § | i A1 Qg Tne=-ufshar & Gefd € 2
(a) 3T=E-348 (b) IWI-358 (c) 3IFT=T-368 (d) FFI=T-378

18. YRA % =1k Ua HeTei@r wiietsh i Ffer st I €
(a) VM HAERT (b) T Tl I FeTE U LU FRT
(c) UIRFR (d) T P FoAE W T FRT
VVA 5 Series-A



19.

20.

21.

22,

23.

24.

25.

26.

27.

By which of the Constitutional amendment, the Right to Property was dropped from the
list of Fundamental Rights ?

(a) 44"™ Amendment (b) 42" Amendment
(©) 24" Amendment (d) None of the above

The President can be impeached for violation of the Constitution of India by
(a) The Supreme Court

(b) The Supreme Court and High Courts jointly

(¢) The Lok Sabha

(d) The two Houses of Parliament

The Supreme Court of India was set up

(a) under the Indian Independence Act, 1947
(b) through an Act of Parliament in 1950

(¢) under the Government of India Act, 1935
(d) under the Constitution of India.

The concept of Judicial review contained in Indian constitution was borrowed from
(a) U.S.A. (b) France
(¢c) UK. (d) Canada

On whose recommendation can the Legislative Council in a state be abolished by the
Parliament ?

(a) The Governor of the State (b) The State Legislative Assembly
(¢) The President (d) None of the above

Which court in India works as a Human Rights Court ?
(a) The Commissioner’s Court (b) The District Magistrate Court
(c) The District Session Court (d) None of the above

In which of the following years was the National Human Rights Commission established
in India ?

(a) 1998 (b)y 1993

(c) 1980 d 1977

Which of the following schemes is not a part of Urban Development ?
(a) Rajiv Awas Yojana (b) Rajiv Rin Yojana
(c) National Urban Livelihood Mission (d) Indira Awas Yojana

Which of the following trains was not introduced in the Railway Budget 2016-17 ?
(a) Garib Rath (b) Hamsafar
(c) Uday (d) Tejas
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28. Who of the following persons is not associated with the Transport Policy of India ?

(a) Mashelkar (b) Kirti Parikh
(¢) Tendulkar (d) Rakesh Mohan
29. To which of the following is the Bibek Debroy Committee Report related ?
(a) Restructuring the Railways (b) Financial Inclusion
(c) Road Safety issue (d) Coastal Area Management

30. When was the ‘Beti Bachao, Beti Padhao’ mission launched by the Prime Minister of

India ?
(a) 22" January, 2010 (b) 22" January, 2015
(c) 22" January, 2012 (d) 22" February, 2016
31. The first ‘Human Development Report’ was published in the year
(@) 1992 (b) 1994
(© 1990 (d) 2000
32. Which of the following age-groups is included in the ‘Right to Education’ ?
(a) 14-18 years (b) 18-21 years
(c) 0-6 years (d) 6-14 years
33. In which of the following years was India declared Polio-free ?
(a) 2010 (b) 2012
(c) 2014 (d) 2016

34. Earlier the Ministry of Rural Development was a part of
(a) Ministry of Food and Agriculture
(b) Ministry of Agriculture
(c) Ministry of Rural Areas and Employment
(d) Department of Rural Employment and Poverty

35. Which of the following types of loan is provided to farmers by the Land Development

Bank ?

(a) Short-term (b) Medium-term

(c) Long-term (d) All the above
36. The Food Corporation of India was established in the year :

(a) 1963 (b) 1965 (c) 1967 (d) 1969
37. With whose assistance was the Bhilai Steel Plant set-up ?

(a)  British Government (b) German Government

(c) Japanese Government (d) Russian Government

38. Which of the following places, is credited to have the first oil well of India ?
(a) Bombay High (b) Digboi
(¢) Ankaleshwar (d) Gulf of Cambay
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39. Which of the following states has the highest forest cover ?
(a) Mizoram (b) Lakshadweep
(¢c) Andaman & Nicobar (d) Arunachal Pradesh

40. Which of the following States of India is famous for Gold Production ?
(a) Kerala (b) Tamil Nadu
(c) Karnataka (d) Jharkhand

41. The United Nations sustainable Development Summit-2015 was held at
(a) Helisinki (b) New York (c) Paris (d) New Delhi

42. The basic objective(s) of the National Mission for Sustainable Agriculture is/are :
(a) Development of low rainfall areas
(b) Resource Conservation
(c) Water-use efficiency and Soil Health Management
(d) All of the above

43. Which of the following pairs is not correctly matched ?
(a) Binary Star Hypothesis — F.R. Moulten
(b) Tidal Hypothesis — James Jeans
(c) Planetesimal Hypothesis — T.C. Chamberlin
(d) Nebular Hypothesis — Laplace

44. In the process of fermentation used for making Asavas and Arishtas, which of the
following is not used ?
(a) Earthen Pots (b)  Wooden Pots
(¢) Steel and Plastic Containers (d) Porcelain Jars

45. In which of the following positions of Sun, Earth and Moon, does the full lunar eclipse

occurs ?
(a) Conjunction (b) Opposition
(¢) Quadature (d) None of the above

46. Which of the following Indian States the Tropic of Cancer does not pass through ?

(a) Odisha (b) Madhya Pradesh
(c) Rajasthan (d) Gujarat

47. Which of the following cities the Indian Standard Meridian (82V4° East) passes through ?
(a) Bangluru (b) Allahabad
(c) Mirzapur (d) Indore

48. Which of the following countries is the part of both Continents — Europe and Asia ?
(a) Syria (b) Lebanon
(c) Israel (d) Turkey
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The country of Brunei is located in
(a)  Sumatra Island (b) Borneo Island
(c) Celebes Island (d) New Guinea Island

Which of the following countries is the part of Scandenavia ?
(a) Germany (b) France
(c) Belgium (d) Denmark

Who of the following is called the ‘Father of Geography’ ?
(a) Hecateus (b) Humboldt
(c) Eratosthenes (d) Strabo

The Gobi desert is located in
(a) Mangolia (b)  Ukraine
(¢) Russia (d) Tazikistan

According to the Plate Tectonics, most of the volcanic and seismic activities take place
along

(a) Conservative Plate Margins (b) Divergent Plate Margins

(c) Convergent Plate Margins (d) None of the above

Which of the following pairs is not correctly matched ?
(a) Patagonia Plateau — Argentina (b)  Southern Alps Mountain — France
(¢) Downs Grasslands — Australia (d) Tista River — India

Which of the following conditions is not suitable for the formation of tropical cyclones ?
(a) Shallow sea (b) 27°-28 °C temperature of sea water
(c) Low pressure in upper troposphere  (d) Minimum Coriolis effect

Which of the following is the largest coal field of India ?
(a) Raniganj (b) Jharia
(¢c) Bokaro (d) Giridih

Which of the following is not the type of iron ore ?
(a) Haematite (b) Limonite
(c) Lignite (d) Magnetite

Deficiency of iodine in food can cause
(a) Goitre (b) Baldness
(c) Elephantasis (d) Pimples

The gas used in welding and cutting of metals is
(a) Ethane (b) Ethyne
(c) Ethene (d) Propane
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Myopia is a vision-defect due to which a person cannot see
(a) Close objects (b) Objects in dim light
(c) Coloured objects (d) Distant objects

Red Blood Corpuscles are formed mainly in the
(a) Liver (b) Bone Marrow
(c) Spleen (d) Heart

A process which can take place only in living cells containing chlorophyll, is called
(a) Photosynthesis (b) Osmosis
(c) Respiration (d) Oxidation

Which of the following is the major constituent of biogas ?
(a) Hydrogen (b) Hydrogen Sulphide
(c) Methane (d) Nitrogen

The Pasteurization process is used to kill

(a)  All bacteria in fruit juices

(b)  All bacteria in pickles

(c) All bacteria and fungi in cakes

(d)  Only Pathogenic bacteria in milk and butter

Which of the following is the best conductor of electricity ?
(a) Silver (b) Copper (¢) Aluminium (d) Paper

An astronaut travelling in a satellite would find the colour of the sky
(a) Blue (b) Black (c) Orange (d) White

The National Institute of Disaster Management is located in
(a) Pune (b) Chennai (¢) New Delhi (d) Kolkata

The provisions of environmental protection in the Constitution were made under
(a) Article 5-A (b) Article 21-B
(¢) Article 27-B(h) (d) Article 48-A and 51-A(g)

Which part of the computer is used for calculating and comparing ?
(a) Control unit (b) Main Memory
(c) A.L.U. (d) Monitor

Computers manipulate data in many ways and this manipulation is called
(a) Performing (b) Processing
(c) Upgrading (d) Batching
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PART -11
STATE RELATED GENERAL KNOWLEDGE

The geographical boundary of Almora district touches the boundaries of
(a) 04 Districts (b) 03 Districts (¢) 05 Districts (d) 06 Districts

According to the Indian Forest Survey Report 2013, which district of Uttarakhand has the
highest percentage of forest area ?
(a) Champawat (b) Dehradun (c) Nainital (d) Pauri Garhwal

Daksh Prajapati temple is situated at
(a) Kalimath (b) Jageshwar (c) Haridwar (d) Baijnath

In which year was the ‘Uttarakhand Space Application Centre’ (USAC) established ?
(a) 2000 (b) 2007 (c) 2004 (d) 2005

In the following list some ‘books’ and their ‘writers’ are given. Select the correctly
matched combination :

List -1 List - II
(Writer) (Books)
A. Okley and Gairola i. He Dattatreya !
B. Govind Chatak ii. Himalaya Parichaya
C. Rahul Sankrityayan iii. Himalayan Folklore
D. Shivani iv. Bharatiya Lok Sanskriti ka Sandhrabh : Madhya Himalaya
Codes :
A B C D
(a i i v

b) i iv i i
() iii iv i i
@ i i iv i

In which year did Tehri state establised its forest department ?
(a) 1885 AD (b) 1815 AD (¢) 1930 AD (d) 1901 AD

In which year did the first group of Scientists reach Roopkund for the study of human
skeletons ?
(a) 1956 (b) 1942 (c) 1955 (d) 1907

The mass fishing festival Maun is held every year near Mussorie on the river
(a) Yamuna (b) Kamal Gaad (c) Aglaad (d) Rikhnaad

Tilari Episode is related to
(a) Education (b) Forest laws
(c) Politics (d) Uttarakhand movement
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ITETE AR ITANT hex ()t T o5 o =l T 2
(a) 2000 (b) 2007 (c) 2004 (d) 2005

e gt & 8 @ 3R 396 TEART & 9 3 T € | 98 ' § gaferd Iy
T T H
Tt - 1 Tt - 11
(FETTHT) (TETY)
A. #iehel T e i, & S |
B. e =Td® ii. femmew ofag
C. Vg OiFaET i, EHeRE B

D. ferart iv. YR i T&hid 1 G54 ; 7 feqe™
£ T

A B C D
(a) 1 i1 i iv

(b) 1w v 1 i
(¢) 1 iv i il
(d 1 i iv i

foett T 3 fove oy e7oer o favmT wnfud fomar 2

(@ 1885%H (b) 1815%H (c) 1930 TH (d) 1901 H
TIFUE T T HHIAT BT AANH ST HH & 1T FIULT SAehT T 5T [hT T9 TgaT 2
(a) 1956 (b) 1942 (c) 1955 (d) 1907
DAl TR T HIT 309 Ui o Fgdt o b 6 a1 T WAl ST € 2

(a) Fg (b) HHAA S (c) TS (d) RETs
fTeTTE! Hve FrEyd €

(a) Ty (b) o FHA I

(c) TeHITH (d) STETE AR
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80.

81.

82.

83.

84.

85S.

86.

87.

88.

89.

90.

In which district of Uttarakhand is the place ‘Lanka’ situated ?
(a) Dehradun (b) Uttarkashi (¢) Chamoli (d) Nainital

To which of the following areas of Uttarakhand is the ‘Tandi Dance’ related ?
(a) Rawain (b) Johar (c) Jauras (d) Jakhani

‘Sem-Mukhem’ is associated with a
(a)  Sun temple (b) Nag temple
(c) Narayan temple (d) Hanuman temple

‘Devidhura’ is known for
(a) Nanda Devi temple (b)  Sheetla Devi temple
(c) Barahi Devi temple (d) Vaishnav Devi temple

In Kumaun region ‘Golu Devata’ is known for being the
(a) Godof War (b) God of Rains (¢) GodofJustice (d) God of Animals

In which district of Uttarakhand is the ‘Valley of Flowers’ situated ?
(a) Nainital (b) Uttarkashi (c) Almora (d) Chamoli

How many Scheduled Tribe communities are there in Uttarakhand ?
(a) 04 (b) 05 (c) 07 d 03

Who was the first Speaker of Uttarakhand Legislative Assembly ?
(a) Yashpal Arya (b) Harbans Kapoor
(c) Prakash Pant (d) Govind Singh Kunjwal

Which of the following pairs is incorrectly matched ?
(a) Welham Boys - Dehradhun (b) Sherwood - Nainital
(¢)  Wood Stock - Mussorie (d) Oak Grove - Roorkee

Who of the following has been awarded “Padam Bhushan” ?
(a) Dr. Anil Joshi (b) Dr. Yashodhar Mathpal
(c) Dr. K.S. Valdiya (d) Prasoon Joshi

Which of the following women of Uttarakhand had constructed ‘Dharmsalas’ on
pilgrimage routes ?

(a) Jasuli Shaukyani (b) Gaura Devi

(c) Chandraprabha Aitwal (d) Gangotri Garbyal
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80. IEUS & [ohg SUT | ‘Tiep qTHS I fere & 2
(a) <EEH (b) STALHRM (c) = (d) =Hrae

81. IWEUS & (=1 | ¥ fohg &7 ¥ At T Trafera € 2
(a) @i (b) SER (c) S (d) STEAT

82. ‘UUgEW YA T

(a TEEHRIE  (b) AMHRH (c) TRAEUHERH () TEE T
83. IR ST A &

(a) =T & "G 6 forw (b) @i & HisY o faw

(c) O &t HieY % forw (d) owrE &t HeY & few

84. FUE & T “Te] I ST S &
(3 JFHIEA (b)) T P I (c) = & o (d) T & Jar

85. ITRIEUS & [hd UG | “Fedl bt =er ferd & 2
(a) =TS (b) ST (c) 3reHre (d) =T\

86. STRIEUS H foheT STIgrad STHSITaAr & 2
(@ 4 ®) 5 © 7 (d 3

87. STUEUS faY T T T 37T i o7 ?

(a) TTeT 3T (b) T FY

(c) U Ud (d) i< &g FHeam
88. Tfcifad It # & S U Told €9 | Fafera € 2

(a) deeHEEE - SEdEd

(b) TS - e

© dTSEH - g

(d) 3% g - wEE
89. frfeifad & & ford UgHYEUT | FEATA fofa 7 & 2

(a) . 3T STl (b) . IR ASUTA

(c) Tf. T, arfesan (d) = ugA e
90. ITEUS & [T HleeAT = AT [T H GHMATST T FH0T SHam o 2

(a) ST Sl (b)  TiRT 3

(c) TSI UFaTA (d) TE Tt
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91.

92.

93.

9.

9s.

96.

97.

PART-III
GENERAL INTELLIGENCE TEST

A man completes a journey in 20 hours. He completes one third distance of the journey at
the rate of 10 km/hr and rest two third at the rate of 12 km/hr. The total distance travelled
by him in 20 hours is :

(@) 220km (b) 200 km (¢) 225km (d) 222km

Some letters are missing in the given letter series. Choose the appropriate answer that
completes the series :

_acca_ccca_acccc_aaa
(a) ccaa (b) acca (c) caac (d caaa

From the statements (1) and (2), find the correct conclusion :
Statement (1) : Some circles are figures.

Statement (2) : Some circles are squares.

Conclusion :

(a) All circles are figures but not square.

(b)  Some circles are neither figures nor squares.

(c) Some figures are squares.

(d) All circles are either figures or squares.

The average age of a family of six members is 22 years. If the age of the youngest
member is 7 years, what was the average age of the family at the time of birth of this
member ?

(a) 20 years (b) 25 years (c) 15 years (d) 18 years

When the time in a wall clock is 3:25 p.m., the angle between the hour hand and the
minute hand is :
lo lo

@ 475 (b) 525 (c) 42° @ 60°

If the price of a television set is increased by 25%, then by what percentage the new price
be decreased to bring the price back to the original level ?

(@ 15% (b) 20% () 25% d) 30%

The numbers in the following figure follow some pattern. Find the missing (?) number :
51 | 11 | 61

64 | 30 | 32
351 7 | 43
(@ 25 (b) 27 (c) 32 d 37
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Tue - 111
(@ gfg i)
91. U AR foRHT AT i 20 B H W HAT & | I8 A 3 U Toere g4 10 fom /a3, il T ik o
gt foere 12 foh.r/H. 1 s 8 U ST € | 20 5 H 3Tk R a0 &l T 3 &
(a 220f®dAr. (b) 200 fHHL (c) 225 fwHn (d) 222 fw

92. 33 T 3BT 3TTHT H P SN IE U T | 3T Tl ST T I ST 3TI5hT i Y07 o Sl &

_acca_ccca_acccc_aaa

(a) ccaa (b) acca (c) caac (d) caaa

93, M (1) o (2) % FRT Tt =k urey e
A (1) : $9 T, AFHAE |
FHUF (2) : TS I, T E |
frene
(a) |t g 3T & foom] T T €
(b) T IT A MBI & AT T |
(c) T AHAE |
(d) wedi o A A Hfa € A A |

94, T I ATt THAl UNER H SET 3T 22 99 € | IS FaIQ B G B 3G 7 99 &, A1 2
TS & S & GHY INER St 3HEd T /T ot 2
(@) 2039 (b) 25a9 (c) 1539 (d) 18=9

95, fordl SR T H STRREA 3 : 25 W A & g 3R 5 A GE & Ted I HI0T &1
(a) 47%° (b) 5215° (c) 42° (d) 60°

96. s ferdlt 2t 1 goar 25% a1 5o T, af 73 goa | febe wiaerd st et st ST {6 goa &
TR TR T 9 d ST 2
(@) 15% (b) 20% (c) 25% d) 30%

97. T T fox ° S ot fam & AR € | o (?) ST A BT

51 | 11 | 61
64 | 30 | 32
35| 7 | 43
(@ 25 (b) 27 (c) 32 d 37
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98.

99.

100.

101.

102.

103.

104.

105.

Six years ago, the ratio of ages of Kamal and Nakul was 6:5. Four years hence, the ratio of
their ages will be 11:10. What is the Nakul’s age at present ?

(a) 16 years (b) 18 years (c) 20 years (d) 24 years

In A ABC, the angle A is larger than angle C and is smaller than the angle B by the same
amount.If angle B is 68°, then the angle C is :

(a) 52° (b) ©68° (c) 60° (d 56°

A alone can do a piece of work in six days while B alone can complete the same work in
eight days. A and B undertook to complete the work together for ¥ 3,200. However, with
the help of C, they completed the work in 3 days. How much will they pay to C ?

(a) <400 (b) 600 (¢) 800 (d) <300

In a 100 metres race, A beats B by 10 metres and C by 13 metres. In a race of 180 metres,
if all run at the same speed as before, then B will beat C by :

(a) 4 metres (b) 5 metres (c) 6 metres (d) 7 metres

Two trains running in the opposite directions cross a man standing on the platform in 27
seconds and 17 seconds, respectively, while both the trains cross each other in 23 seconds.
The ratio of their speed is :

(@ 1:3 (b) 3:2 (c) 3:4 d 4:5

B is located South-West of A. C is to the East of B and South-East of A. D is to the North
of C, in a line with B and A. In which direction of A, D is located ?

(a) North (b) East (¢) South-East (d) North-East

Four men A, B, C, D and four women W, X, Y, Z are sitting round a table facing each
other.

(1) No two men or two women are sitting together.

(i) W is to the right of B.

(iii) Y is facing X and is to the left of A.

(iv) C s to the right of Z.

Who are the two persons sitting adjacent to D ?

(a) WandyY (b) Xand W (¢) XandZ (d WandZ

In the following series, one number is wrong. Find out the wrong numer :
864, 420, 200, 96, 40, 16, 6
(a) 16 (b) 40 (c) 96 (d) 200
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98.

99.

100.

101.

102.

103.

104.

105.

VVA

T TS U8l HH 3R AHT ST FN AT 6 : 5 AT | 37T ¥ =R Trell H, S S0 I 3T
11 : 10 & ST | 7o ST TTHH ST T & 2
(@) 1639 (b) 18aW (c) 20a9 (d) 2439

AABC #, 0T A, 07 C & a1 971 &, 07 B @ 3o 81 Sie1 € | IS it B, 68° &, f Hior C
T A BN

(a) 52° (b) 68° (c) 60° (d) 56°

fohelt weh T I A 3Tehell B 67 | -1 YT € STafeh B 37ehet 34T &1 ot 311 T & 91 3 |eell
T 1A 3R B 30 &@ B W HA & o T 3200 od & | g C Hl Fedal J S8+ 9 H1F B 3
fot = & @ < foram 1 3 C i T T B 2

(a) T 400 (b) T 600 (c) T 800 (d 300

100 HEX H THEEH A, B &l 10 HeX F 3T C &l 13 He 9 &ar & | 180 Hiel &l &g ¥, IS
Tt 31O Uget i & T | Jed &, df B, C i &
(a) 4TI (b) 5T (c) 6TIY (d) 77

T famdie feemett & oot @l Ienmiedt WehH W @e Uk AT Bl hAST: 27 Uhe T 17 Fhg |
IR T A &, STafeh Th-gER Bl IeTiedr 23 Wehe W IR Rl € | KT IonTIiEat shi i T S
T

@ 1:3 (b) 3:2 (c) 3:4 d 4:5

B, A% IRII-UReH G i@ € IC,BF @ H AN A FIRU-GEGHE I D, C H WA, B 3 A
HAFA AT ID, AQTFa I g &9
(@) SW b) T (c) wfeor-gd (d) S

TR GET A, B, C, D 3R IR Afamd W, X, Y, Z T e 551 & NI 3T TH-FE H 3R HE Fh
ST |

(i) S Y59 A7 3T HiEeTd Uh 9 FE S E |

(i) W,B &SI SR E |

(i) Y, XF I A A FICE |

(iv) C,ZFH M |

D % H~Tehe i S AN € ?

(a WaRY (b) X AW (c) X3IARZ (d WaARZ

=7 e ® Ush u% et €

864, 420, 200, 96, 40, 16, 6

T IS 1 @i |

(a) 16 (b) 40 (c) 96 (d) 200
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106.

107.

108.

109.

110.

111.

112.

113.

114.

By interchanging any two signs, the following equation may be corrected :
16 +4 +2-21x7=21. The signs are :
(a) +and- (b) + and X (¢) —and~+ (d) xand-=

In a certain code language, RUSTICATE is written as QTTUIDBSD. How would
STATISTIC be written in that code ?

(@) RSBUJTUHB (b) RSBUITUHB (¢) RSBUIRSID (d) RSBUJTSHB

In the following series, how many pairs of alternate numbers have a difference of 2 ?
641228742153862171413286
(a) One (b) Two (c) Three (d) Four

What was the day on January 1%, 1901 ?
(a) Tuesday (b) Wednesday (¢)  Sunday (d) Monday

Choose the pair in which the words are differently related :
(a) Saw:Wood (b)  Pen: Paper
(¢) Author : Book (d) Chalk : Blackboard

Reaching the place of meeting 15 minutes before 8:30 hours, Vinod found himself half an
hour earlier than his friend who was 40 minutes late. What was the scheduled time of
meeting ?

(@) 8:05hours (b) 8:15hours (c) 8:45hours (d) 8:55hours

A fruit vendor buys 120 green apples at 4 for I 100 and 120 golden apples at 6 for T 100.
He decides to mix them and sell at 10 for I 200. He will make :

(a) loss of 4% (b) gain of 4% (¢) lossof 10% (d) no profit, no loss

Which of the following numbers is the largest ?
234 243 324 342 423 432

(a) 4% (b) 42 @) 3% @ 23

A sales representative plans to visit each of six companies M, N, P, Q, R and S exactly
once during the day. She set up her schedule for the day as follows :

(i)  She must visit M before N and R.

(i1) She must visit N before Q.

(i1i1)) The third company she visits must be P.

If she visits Q immediately before R and immediately after S, she visits Q at the number
(a) second (b) fourth (c) fifth (d) sixth
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106.

107.

108.

109.

110.

111.

112.

113.

114.

VVA

Tl 31 Tt ot TRER S5et Y T WHIehe0T St Tl o ST HebelT &
16+4+2-21x7=21"

e e €

(a) + 3R - (b) + 3R x (c) -3R=+ d) xR+

% fAfvad % o H§, RUSTICATE % QTTUIDBSD fer@r <frar & | 3 %< omn o

STATISTIC =t 9 forar s 2
(@ RSBUJTUHB
(b) RSBUITUHB
(0 RSBUIRSIJD
(d) RSBUJTSHB

=7 e 7 641228742153862171413286 UHIR 3ihi & Toha Siie &, [SHH 37l 1 37X 2
T

(a) TH (b) (c) = (d) =R
Teh STert, 1901 oht i &7 5 o 2

(a) HITTER (b) FHEAR (c) faar (d) HHER
I3t o UH T T T ST 3FenT ke | grefd €

(a) oM kel

(b) U= : FHIT

(c) &@F IETIC)

(d) == ABAS

e F @A W 8 : 30 9 ¥ 15 e Teet uge W foAIg 3 30 31T i U T | a7 w5
gt urE, ST 40 e foeia @ or | e o fad w2
(a) 8:05s (b) 8:15% (c) 8:45= (d) 8:55%

Teh e fershal 120 & Fa T 100 3 4 31T 120 ToeT 99 T 100 & 6 eqe @ @lear ¢ | o8 gFf
&t ferRe T 200 % 10 & &9 9 s= o1 (99 war & | 39 /e

(a) 4% @ (b) 4% = ) 10% &= (d) = @m, T8
= o ¥ i 9 e 999 98 § 2

234’ 243’ 324’ 342’ 423’ 432

a) 4% (b) 42 @) 3% @ 23

TF Yo Uidfr 3 ©: w@= M, N, P, Q, R 9 S & U {57 § Ush ar 5= o1 gifvad foar |
3T =1 T T 310 57 St | e

(i) SEMUNTR H Tl ST =@M |

(i) SANTQF Tecd T A1 |

(i) e AT e 3@ ST =gl P |

g o Q § R § UHsH Teet UF S ¥ UhsH o5 ST, af Q W ST T 5 &I

(a) T (b) e (c) urEEr (d) 3
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115. In the following, which figure shows the relation between a thief, a judge and a criminal ?

116.

117.

118.

119.

120.

@ @. O
O 0O
A B C D

(@ A (b) B ¢ C (d D

By making 98 runs in his 19" inning, a batsman increases his average run rate by 4. What

is his average run rate after 19" inning ?
(a 22 (b)y 24 (c) 26 d 28

Identify the letters that will come in the place of question mark (?) :
CFIL : FINR : INSX : ?
(a) LRXD (b)y STVW (c) LSZE (d LRXU

IfOx3+8=24,10x2+ 7 =35 and 80 x 40 + 3 = 6, then what will be the value of

12x4+37
(@ 7 (b) 9 (c) 12 d 16

The total number of triangles in the figure is :

@ 9 (b)y 12 (c) 18 d 22

Given

I I (e 9
B

Which of the following figures will come in the place of question mark (?) ?

e ) )
L) L
Hm o 3 ®
@ D ) @ © @ @ @
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115.

116.

117.

118.

119.

120.

VVA

7 5 | S 3TH T AR, ST AR ST o el o qawei i 9 ¢ 2

® @, 0, ©

@ A (b) B ) C d D

Th FootdrsT 198 IR | 98 T SR 3191 3T ad T G H 4 ol Sl &Hdar & | 199 IR’Y &
S IHH! 3G T &A1 741 &l 2
(a) 22 (b)y 24 (c) 26 (d 28
T-aTE e o T 9Y 3T el 3T ol Tea-id
CFIL : FINR : INSX : ?
(a) LRXD (b) STVW (c) LSZE (d LRXU
AT 9 x 3+ 8 =24,

10x2+7=35
AT 80 X 40 + 3 =6,7T 12 X 4 + 3 T =T H &N 2
(a) 7 (b)) 9 (c) 12 (d 16
f&a T T | Tngsit 6 T HEm T
a 9 (b)) 12 (c) 18 d 22
ERIRIpIE

R o

S (O
=7 STl B | i Gt uvHETaeh e & wIE W S 0
oy 1

N R

(1) 2 3) )
(@ (1 b @2 © 3 d @
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121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

T[UE-IV : 9N (37)

(@ fe=)
Th OIS § A Tel 9919 &
(a) YEitehd (b) X (c) <mETEr (d) fo&m
AT Tex | HA &
(a) e (b) 3TN (c) HHURE d) et
e v1eg o1 WY fa=sT &

@ fm+emmw (b)) fFriemmw (o fmew d) fr+meR

e’ o Wiy-fae ¥

(@ T+aF (b) T+ 3 (c) W +3m (d) T+ A
M aET v ¢ .

(a) 3T (b) T (c) = (d) sa=

“ ITYSTAT T Betehd ST TAIhITord hl 3T ¢

(a) 3T 9 TR SATET Akl ¢ | (b) 3T STelt g5 TRI A&l R Y |
(c) oA | TR 9l Tl ¢ | (d) o S ST SAfeRT STeT fe@ren e € |
“feTeT T TS T HETaR T Tet 3T €

(a) o1 & i H dret gg (b) BTl AT Hl TGT-TSTH FHEAT
(c) dTEHUgH faet ge (d) T HE T

() Temig (b) T (¢) Ty d) wE®
T T IF . .

(a) wfgem (b) HEEREE (c) TSI (d) 3w
T 915 S T U5 € .

(a) = (b) TR () IR (d) few
T IE T ToIA™ &

(a) TOA (b) == (c) <y (d) TEA
‘SIS I foAH e

(a) Wa (b) 3 (c) Fa= d) fo=
fr=fefad & @ a1 &% I[F 9 S T DI ;

(a) e, e g=Y gvd & | (b) aTE ! foha GeT T & |

(c) o' fPgXgwae | (d) @ fraT gT eI € 9

‘SIS T T AT ¢ . ’
@ = (b) @ () =4 (d) S H | HIE Tl
forrery’ forg U o1 IS & 2

(a) T (b) RIS (c) o (d) T
‘WFEJWW‘ETW%

() ¥B (b) = ) % d b
I v H U

(a 31 (b) 3 () 3 d <
TeAifeRd o ST9Tg ST T =2 HIfTT

(a) T @ B AL | (b) HIE g Fo[E ¥ |

(c) TARREEY | (d) el I TH T & |

S ARt 3ok THT W X {ohdl Fior bl W o — et o feld U 9eg €

() W (b)  WeICTT () WG~ (d) wemT
3T AT % fog 3w — SR % oY U v

(@) TR (b) = © Twe (d) 3o
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PART-1V (B) : LANGUAGE
(GENERAL ENGLISH)
141. Choose the correct sentence :
(a)  Either of us were capable of winning.
(b) Either of us are capable of winning.
(c) Either of us have been capable of winning.
(d) Either of us is capable of winning.

142. What is the meaning of the following idiom ?

A bull in a China Shop
(a) avery strong man (b) anugly man
(c) arefined person (d) arough person

143. Identify the part of speech of underlined word which is converted from noun to adjective.
This is a silk sari.

(a) Silken (b) Silky (¢) Silkish (d) None of the above
144. Fill in the blank with the correct preposition given below :

A yong lady threw herself this bridge last year.

(a) at (b) from (c) off (d) on
145. Give one word for the following :

Study of mankind

(a) Pathology (b) Physiology (c) Anthropology (d) Philology

146. Use the correct article from the options given below :
youngest of them wanted to get pot of gold.

(a) a,an (b) the, a (c) an,the (d) None of these
Read the following passage and answer the question numbers 147 to 150, that follow :

Children brought up in a loving, disciplined environment end up respecting their parents
more and become law-abiding citizens. The reverse is just as True Good parents are not afraid
of momentary dislikes by children to enforce the subject. Allowing a child to eat a box of
chocolates could lead to sickness. At the same time the discipline of eating one or two pieces a
day can be an enjoyable experience for a longer time. Our instinct makes us to do what ever we
want regardless of the consequences. Freedom is not procured by a full enjoyment of what is
desired but controlling the desire.

147. Choose the word which is closest in meaning to the word given below :
Reverse
(a) same (b) similar (¢) Dback (d) opposite
148. Choose the correct Hindi translation of the underlined English sentence :
(a) UHYYT X STRNTET ATeRoT § Uot-a¢ =d HIdT-fUdl 1 G ot X ¢ fohed o BT Hl
T S ATel AR F@l It |
(b) THYYT R TTeNTad feafd B Uit e AT-TaeT ST Qe 9T R € o I 1 A & |
(c) ROl Ue TN STdTeRvT | el g I=d AIAT-Yar Sl 31 T XA & 3T FEA &

U A ATl AN S © |
(d) YUl 9 TN TR § edtad d Uiftd sea HTal-fudr & ufq eI W@ % 9T
T A B T & |
149. Which of the following is opposite in meaning of the word ‘momentary’ ?
(a) Transitory (b) Lasting (¢) Short-lived (d) Sedentary

150. Choose the appropriate title out of the given options for the passage :
(a) Discipline in early life leads to success in later life.
(b)  Children must be given full freedom to do whatever they like.
(c) Loving parents must not discipline their children.
(d) None of these.
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